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5 sets of runs, all of them having the vertexZ fixed to target 
center and VertexX and VertexY from beam position

● Be target runs (CDC was OFF during these runs) - [61321,61344]

● He Target runs with CDC OFF - [61437, 61483), too low in statistics not 

showing in the plots below

● He Target runs with CDC ON -  [61483, 61914)

● Spring 2018 GlueX runs [50638,51000] 
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Pi0 mass as a function of channel
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Pi0 mass distribution of all events
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Signal to noise ratio for channels
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Fall 2018 GlueX runs
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Fall 2018 GlueX runs
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Conclusions
● The layer 3 looks without any clear pi0 events. 
● There is a shift in the pi0 mass for the PrimEx runs. 


